¢ HOvd

Parts for the
Boss range,
including the
original (pictured),
Feedlot Feeder
and Trailed
Feeder are the
same.

Parts for our
older model (ie
drive pins) are
still available —
call or email for
information.

W
7

On the latest
model Boss
feeders, the cast
sprockets are at

Item Description Quantity

1 Base frame assembly 1
2 Shaft bearing casting  2x L, 2xR
3 Drive shaft bush bearing 4
4 Oily bush spacer 4
5 Drive cog (new 2009) 1
6
7 Seg| sprocket 1
8 Idler shaft 1
9 dler driveshaft guard tubes 2
10 Drive shaft 1
11 Drive dog 1
12 Catch assembly 1
13 Chain joiner link (not shown) 1
14 Chain joiner link (not shown) 1
15 Ca=Jsprockets 2
16
= -

18

19

20 M12X 100 8
21 M10 nut 4
22 M10X30 4
23 M10 X12 grub screws 4




